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EIBIRERETE

2016 HFELNERIBY B AT L &FIH L=
HEEA L 7otz MEEELE DV AT A EOET ST
e,

FE BRI DT o — FTiE, BEDH -7 18
Tk 15 fitigk T MM < FrEhiz] Th-
7o [T B2 ENTE Aoz N 1 EikdH 0 E
HCH ERYFAEBEEIT N, KB O OS

(Windows10) CTORENH KA holz D Z & TH
0., REELUREERLETHD EB 2D, i
WA S 2ftsk B TE -,

KRAEFEDO SRR EIE., BEB6ekiax. LEX 33
(36) / DB 29 (31) / MBS 23 (23)
/ REEREER 17(19)/ iR A MM 26 (27)
PR 21 (26) Th o7,
() WNITETEEM,

AP T, DER AR/ DR 4R/
M S 2R/ IEEE T 4R/ PR A 4
RIC, MEELRETH o 72, FREERERA 1T S
BHOAHRT, EETE o7z, £7o. FHERSR
gh& U N> 7,

AREEICBNTH, BEEHRENRET —¥ O
FEEICHENLD K D 1 IRFHI AP I 7 AT I % 5%
. FEEREE, AN ROFTIEE 1T - 72
BRI DEFEABEEEE ) Z48H LTz,

FEERICH AN &2 Fh L= iisk X, BIn36kasx 18
gk & WEFE L IRIERBRO 5T Eo7m,  TRIEA
Mt E] oRHIL12MEER (2418) T, 6fisx S Kz
HThol,

7pd, M I E OFATIERMRIE LLTFISRT,
DR (BXM2) 1/33%a%, (RX[M3) 4/33hEa%, (B
fi4) 3/33fmaxk. CtE S« GXRA1) 3/290ER%,

(F%fM2) 1/290i%, (F%RH3) 1/290i7%, (F%fH4) 3/29
Wik,  MAEEEEE  GERI) 1/23ME%.  MEEEE
W (BRI 3/17hEs%, (GEM2) 5/17Hizk, (FX[H4)
3/1Thagk.  FRRRAERE . (GXRIL) 6/26fEa%, (GXM3)
5/230Es% Td > 7=,

LN
LI K 32 B S

SEFRIEA R, 1R=2RDEIZBWN T, O
B (BRI 100—100 %, (8%fH2) 97.0—100 %,
(7%ff3) 84.8—97.0 %, (Xfi4) 90.9—100 %.
DB - (GRH1) 89.7—100 %, (F%fH2) 96.6
—100 %, (FX[3) 96.6—100 %, (F%[H4) 86.2—
96.6 %. MAAEEEH : E1) 95.7-100 %, (%
M2) 95.7—95.7 %. MEEEER : GxHl) 82.4—
100 %, (K[2) 41.2—70.6 %, (F%[3) 100—
100 %, (F%fH4) 56.3—68.8 %. ffeAH . (G%AT1)
65.4—88.5 %, (F%f2) 100—100 %, (F&R13) 69.6
—91.3 %, (F%[14)100 —100 %.
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